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COMPUTER SCIENCE PAPER-I GROUP-| bpeen) b= gq Snd
TIME ALLOWED: 15 Minutes MTIN —/—2Y 215 = =y
MAXIMUM MARKS: 10 OBJECTIVE (¥4 10 = AF

You have four choices for each objective type question as A, B,

LB f e § SRS L e b WL s L J63% fLLs D 11 C B A 2zl | 4 /U"‘
~6‘!J}‘aw?’£0)ﬂ¢\=dfd‘w Jok L LS mulia

C and D. The choice which you think is correct, fill that bubble In front of Fhat question number, on bubble sheet. Use Q.No.1.
marker or pen to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question.
D C B Questions / w il Sr.No.
Which operator has highest precedence 1
! < = among these?
tepie e GG e R
Data Nested Repeated An if-statement inside another if-statement| 2
2 2z b is called:
_c".,t’ﬂf'}:}’:a}ﬁ.:):’? if /”vgjjléﬂ it i
What is the output of following code? &
e Ui T3 500 |
<x@’ y=7,
1 0 @ >y)
printf ("%Jd", x);
else
printf("%d", v );
Conditional Data An array is a ______ structure. 4
by &3 e Ay S
Initialization increment Condition part of for loop is executed first. 5
77 I St u’/f e Vg dt e r o UAKLS for
Related defined | Server defined User def" ned H"‘}%dmin defined |Functions could be built-in or 6
S ek AT bABDT, S Lelek wﬁ
Many values Three values Two values A function can return . 7
(JI.;EJ ..“:L-,L: .,“:u -G VIU/J uf'ﬁuﬂ
Print Comments Main Inciude statements are written in ___ 8
iy el o~ section.
_ug&et.f’(ufui? it Include
Comments Strings Constants . are the values that do not change 9
uiiaS )C}Vt‘ odiiaiwslS during the execution of program.
~u5nuf3{j:fub»£.2$c’:f" ;,-;J?L}fuigu —_
11 5 2 The expression 11%2 has answer: 10

e ZE 11%2 it
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COMPUTER SCIENCE PAPER-II GROUP-I Uit o Lpegd W ad” ),.{
TIME ALLOWED: 1.45 Hours MIN~)—2Y o145 = =5
MAXIMUM MARKS: 40 SUBJECTIVE 1.0 0 =4S
NOTE: Write same question number and its parts number on answer book, as given in the question paper, —¢-&uil g4 v xﬁwﬁ}zm,?dlrwqdi’dm_u,)
SECTION-I .2
2. Attempt any four parts. 08=2 X4 _,g.{%;’.g,;mz_nzbkgéf Zﬁidlf
(i) | Write the syntax to declare the variable. ¥ oS Eangs S 5 &)
(i) | What are Multi Line Comments? rutfoduSyd | (D)
(iti) | Define Keywords. S A s | GiD
(iv) | Solve the given expression. 20-9*(12+3) 20-9%(12+3) LSS A GG | W)
(v) | Draw the truth table of AND operator. S % (TAND W)
(vi) | What is the purpose of getch( );? te ¥ getoh(); | (VD)
3 Attempt any four parts. 08=2X4 E7 ..-.'.41,1.2&!2&%:.—(.;/ 34Uy
(i) | Draw the flow chart for if-else statement. Shodpbd Lo irese| @
(i) | What is Control Statement? se ety | (D)
(iii) | Identify the errors in the given code segment. ‘ S usb tus Ll e, | (D
if (4 < 4); if (4 < 4);
printf (“YES”); ¢ @
printf (“YES'%;
| ¥
(iv) | Write the output of the given code: : Q\‘/ _uy‘f el T Lz, | (V)
if (40 < 50) y §@< " ; :
P ring (E‘,II:I}:S;,: '_.”); @ printf (“Hello ¢ss”);
prin )3 @ﬁ printf (“TRUE”);
(v) | What is meant by array initialization? " <®9 St A Iy v)
(vi) | Declare an array of float type to storeHerght of Sl etz /ké el tte bl (vi)
seven students. ' : ) il
&b fheight) G
4, Attempt any four parts. -0 08=2 X4 izl | 4 0y
(i | What do you know about Loop? ' SUZ bV e AL AT ()
(iiy | What will be the output of given code? 1 slnfosnsty Lz, | (D
for (int i=0; i <5; i++) : for(mif i=o0; <5 i+4)
{ ! . : a ’
A i printh“PUNJAB\”);
) v
(iii) | What is meant by user defined function? s /J‘,__w—‘ﬁ e | (i)
Tv) Write the name of function advantages. A _ugff AL 3L u:ﬁ (iv)
(v) | What is meant by arguments in function? te st e idise L2 8 | V)
(vi) | What do you know about calling a function? CELS L BTt (VD)
SECTION-II (.
NOTE: | Attempt any two questions. 16=2X8 - eprleirved | o
5. What is data type? Explain different data types of Sl Ju:’w e {.Lj, __,j';u:i e e ines 5
C-language. o it
2+6 <
6. What are logical operators? Describe its types. 8 ik /’ub.rb?'J WISt nll ﬁ/l’g,éﬂtgw -6
7. Write a program in C-language to print odd numbers 20 2 d S 1S Sfor ﬁu;-” ¢ Sl e 7
between 20 and 40 using for loop. 5 i
8 it bt s £ 40
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You have four choices for each objective type question as A, B, N YT NI ST5 XS 39 A 1 b LS st nsien

1 /,‘Ufrj

C and D. The choice which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use Q.No.1.
marker or pen to fill the bubbles. Cutting or filling two or more bubbies will result in zero mark in that question.
D c B A Questions / =iy SrNo.
Comments Strings Constants Variables _____ are the values that do not change 1
sl }f} ouidianlS ..:-J/f"“‘ during the whole execution of program.
-Jnﬂd;}‘i_n%i[i/j{ﬁuj Lfgu L
Editor Identifier IDE Compiler Each variable has a unique name that 2
kb Gk $is387 )gf is called
g Sebap Py |
Which operator has the highest 3 |
! % = 1 prece mong the given?
@ "c.ubzc:.gé/&}/ fu/cfc. 3
O%Qha’c will be the value of "I" after the 4
i 8 8.0 @% given statement?
%gjb i 1 L A
D it i=4+39; |
Reversing Traversing lter. Decisions Conditional logic helps in ______? 5
Loy Ly} F ke ek By |
Q)Q) - ", What will be the output of the given code? | 6
“R ?Jng_‘;wgaifdlifé.ﬁ_:
" " 1 ioo (0 < 1)
: printf (*1");
else
: 1’ printf ("0");
nested do-while whil:e - for Using loops inside loops is called _____ 7
e do-while while for loops? - bR ___ JeIK AL o
Random Divided Scattered Contiguous | Array elements are stored at _____memory| 8
(% aiﬁﬁ :’..m../{ M locations?
_ -ujz.ﬂl;):";‘ ___&LWLL,‘J}":LMLLJ‘
Arguments Arrays Return types Bodies  |The values passed to a function are called| 9
Vet i u’étw/‘:.; 734 .
~ut 0l sSSP
Printing Executing Compiling Readability |The advantages of using functions are 10
By B E N:{Vs cobfibey|
U KL Sl
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COMPUTER SCIENCE

GROUP-HI

PAPER-] Vogn/ b 2y u"tm;,"
TIME ALLOWED: 1.45 Hours &% 1.45 = =3 SUBJECTIVE ~&  |MAXIMUMMARKS:40 40 = S

NOTE: Write same question number and its part number on answer book, as given In the question paper.

S 4 {—{.JVJZ# bﬂﬁ:?/ﬁﬁ{)lrd‘:{géfdm b

SECTION-l sl

N TN =2-—24

2. Attempt any four parts. 08=2x4 -&iayzémuga.éf ..2/.’U’ff
(i) Define int data type. -u:’g ~—;'.ff7 J-,/’ LS int 0)
(i)  [What is constant? Se bl widuilS | (i)
(i) | What do you know about Reserved words? S’uji%’i;‘l’uﬂa..;&&klﬂhji (iii)
(iv) |Define scanf ( ) function, LI5S scanf () | (v)
(v)  |What are relational operators? U ool dissly | ()
(vi) | What will be the output of the given code? ‘.‘Jnl_/..:z,;«f UWLes | (i)
Void main ( ) Void main ( )
{ {
int a=4, b; int a=4, b,
float ¢ =2.3; float ¢ =2.3;
b=c*a; b=c*a;
print f ("%d", b); print f ("%d", b);
} }
3. Attempt any four pérts. 08=2x4 -{,{/futb’ﬁl:ﬂ/g&é)’ 34
0] Write down syntax of nested if-else statement. -L_{/,( fu.us.\..u.w Ko if-else art (0]
(i)  |How more than one instructions are written under ?@J@@@,L4 £l else Lif | (i)
if-statement or else-statement? B @
(iii) What is a sequential control statement? {\QQ\ S‘%:I/({‘;Jf’ J,ﬂ/ Jahdas oS | (i)
(iv) |Find output of the given code: : _u_‘/;j:_v, ¢fTK5fLZ i | (V)
int a=12, b=13; %5 int a=12, b=13;
if(al=b) Po> it(al=b)
print f ("Equal"); @ print f ("Equal");
else ¢ else
print f ("Not equal"); NS print f ("Not equal");
(v)  |Describe the definition of g@?&ﬁl{:ﬁd&ges in C-language. wkff /ug-.’qﬂfiﬁ;"l&id L c (v)
(vi) | Write syntax to initialize an array. : 2 ki ST | (Vi)
4. Attempt any four parts. 08=2x4 .é;;’.-aywﬁlzuge_éf 440
) Identify errors in the given code: -quﬁJ:WJw;’*uuZ}fié.J 0)
float [8] float [8]
int {16} int {16}
(i) | Write the output of the given code: o s TV 2 | i)
for(int x=7;, x<=50;, x= x+10) for(int x=7, x<=50; x=x+10)
print f ("%d\t", x); print £ ("%d\t", Xx);
(iiy | Differentiate built-in and user-defined function. -u/ub&)u’ ais LS 5 2 b (i)
(iv) Explain the term reusability of a function. _u/..ol.nd’(/wt/dwul./;fu'ﬁ (iv)
(v |Why do we call a function? e ad i
(vi) | What is meant by defining a function? ?Q)I/L[c_é,ﬂufwjffg (vi)

SECTION-Il oo

NOTE: Attempt any two questions.

16=8x2

..5?,{{ ]’:ayﬁé:@mn::_éf -

5. Define Data type. Explain different data types used St R C Sl e gt 5
in C-Language. ~Q/C;>>L:ud/ L1
6. Explain arithmetic operators used in C-language. ‘q/yu;d/;j:ﬂ;@"ju.bi.ndvﬂw LEc| .6

Write a program in C-language that print odd numbers
on the screen using "for" loop from 1 to 20.

enZ S o 2o S il fc |
e Sy g P B 20 e 1
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’PASPER CODE 2023 (1st-A) A
SSC PART-I (10th CLASS) MTH - 9’3

NUMBER: 3833
COMPUTER SCIENCE (GROUP-I) (NEW COURSE) () (i - .,,,/ ) Sl

C)

TIME ALchWED: 15 Minute§ OBJECTIVE Y Yl 215 =

MAXIMUM MARKS: 10 " 10= AF
Saohh | S L rdene J uuuéa.ie.widty/p;dmw ...ufént—J D 4 C B A ezl L i s
{g{.élru‘l ..U'A_lyy)(,)‘" /Jf._ﬂ...mJL;.L,; :(J:/b _fnl:"’w.,,lf./:&u?wn( Lj:g f ' L L):qfuulm})c..f ﬂ:.:
Nota You have four cholces for each objeotlve type question as A, B, C and D, The cholce -u)id’)}@uu—
which you think is correct, fill that bubble in front of that question nuniber, on bubblé sheat Use marker or pen
to fill the bubbles. Cutting or filling twe or more bubbles will resuit In zéro mark In that questlon No credlt will be
awarded in case BUBBLES are mpt fillec.. Do not solve questions on this sheot of OBJECTIVE PAPER.

Q.No.1 | ' A
(1) ______ describes the name, Inputs -4_Q:qbsb’uﬂ@zyﬁ.¢4..*AT'/..%ch&wu!ﬁeL‘f'@qf — 1)
and outputs of the fupction.
(A) Function dectaration u"‘)/ﬁwm (B) Function call (Jb/l_'f‘ﬁ '
(C) Function signature _,q.a.&pu*ﬁ (D) All i
(2) A list of words that -uji..lk( _______.vrtc/.f'fdwf{.u"éurcéa,yfazf_t@'ﬁ{ulumﬂ&@%f LS sl 2)
are predefined and must not be uged by the programmer to na@ variables ar¢ known as '
(A) Auto words 5UIJT (B) Reserved w@ﬁ I gﬂf‘"
(C) Restricted words sWlss (D) Predefirgd words St
(3) Include statement is written in ‘—T“"‘ section. -l ﬂ‘kwu:c;? f../"-“" Include 3)
(A) Header .k« (B) Maln %< (C) Coments uﬂ'f (D) Print 24 : |
(4) Symbol of logical AND operation | | ST AND S )
OR: (8) (© 1 R |
(5) Which is an escape sequence used in C-Lanbuage? ?q,SeFuence ﬂﬂu’ Ul:qndbv'l;,/‘fn@ c L«u/c.,;du! (5)
A) \n ®) W ©\a D
(6) Inan if statement, block of statement is written Inside .___. e blblaL L fo o (B)
® ) GRS (© [1 - ™" |
(7) What is the output of the following code? sl TS b (7)
int x=10; ‘ in; x=10;
if(x>10) if(x>10) »
print f ("Wrong"); print f ("Wrong");
alse else
, print f (“Correcr');: print f ("Correct");
(A) Wrolng : (B) Corract () Error (D) No output
(8) makes it easlar to read and write values in array. .q.l:'.a%c)vfl:/ cumﬂ'f’.z‘,:.'"‘zc_a.ﬁc.uuf il (8)
(A) Ioop o B) If il ©(C) felee AL (D) nested If  If 2
©) ______Isaunique identifier us#’ to refer to the array. -ﬁg}ndw‘l{—& P ﬁ:f—wbwr""uﬁ —_—
(A) Data type -.;f’li.l‘d y (B) /-T\l‘[ay name (bl (6) Array size F-¥e (D)-None 17
(10) The values passed tb a furiction are called ______, R " S oA o)

(A) Bodies 23, (B) Return type Uz, (C)Arrays 2/ (D) Argump'nts u’*‘;[ﬂ'



2023 (1st/A) | A
SSC PART-Il (10th CLASS)

LQMPUTER SCIENCE (GROUP-) (NEW COURSE] (ol i) (i~ 4;!
TIME ALLOWED: 1.45 Hours SUBJECTIVE Wi ‘ af 146 = &b
MAXIMUM MARKS: 40 ; MTN 1 ~23 40 = f

NOTE: Write same quesﬂo number ~%b))‘,):%-:—{.é'fﬂé OJJ/‘S!A'/UM}:JQVGV ..u.ffv’

and Its pprt numbef on answer book; as given in the question paper.

SECTION- oo

2. Attempt any four parts. g=2x4 ﬁ;;’._,gw:mya.éf 240
() . What is the difference between variables and constants? e I e Ul td™ ()
() Whatis meant by varigble initialization? ; | Cesl ey ()
(i)  What Is meant by body of main( ) function? sl 'Jl.vd'w*ﬁ main{) (i)
{iv) Write the purpose of getch( ). -4 geteh() (V)
{y)  Define binary operator. -LZ/-.‘.’/JJ/"’f{"sﬁh )
(vi)  Wrile truth table for OR operarot‘. L Easg i OR (V)
3. Attempt any four parts. ‘ . 8=2x4 - fa LIz ’Jk’é-éf =3
()  Write the types of Control Sta+ementq. : @ L FI f-ﬂ,}r 0]

' QS a S ftelse ()

(ii) Define if-else statement. i :

(i) Whatls nested selection structure? @O ?q-d‘ﬂkgm:.‘ ()

(Iv) Find errors In following céde: -qf‘fw;;le.u,iifdjséu {iv)

Find : S\
If (2 > 10) : @%5@ | It (a > 10)

printf("Good); @ printf("Good);
(v) How can we declaré an array of type Int & s/l bt It A W)
?,J:qﬁ H%b}lﬁﬁ#f&../!.g e;.»kﬁd.&é_ﬂf" -?J'WJ U:ﬁ;wwf (vi)

a float type array to store hei aven persons'?‘

(vi) How would you declare gnd initiali

-4{,;/’.-4:;&:7»9:.5! Py
Sl 0

&céuwﬁ (Syntax) &le3lo? For (i)
G (i

Ly fat JLdewu’gui / ¢ (Show Program) e g,ra..{ (v)

4. Attempt fxny four parts. 8=2x4
) What is| Counter Variable?

{y  Write down the néme of parts of for loop syntdy

(i) Define functions ' ‘

(v) Howtocalla function in méln program

if a function name is (Show Pr gram)?
(v) What Is meant by readabllity in advantages of function? ?q.-;yyfa.wae.{ub u&u—a (v)

(vi)  Write down a function slgngture u"{,_—,..u.i,‘ wﬁ(;.r/‘ﬁud/kubn%wqg; (int) et fum.r{ (vh
If a function takes' an integer as input and returns its square. :
SECTIQN-II (224
16=8x 2 e fynLctrme S <29
| wLhsesdipgbRic b
.‘{/ywcpwwf%ffm&d[ bt 8

NOTE: Atteé-:pt any two questions.
5. Describe the structure of program in C-language.
6. Whetis Escape sequence?

Explain any of two escaps sequences with examples
% Wirite a program to print 4+ 4 -5‘:;/7"'/ /VL/.J.;:MJLL-( 10 = 1 g.xz.fdwrv;’ for .7

odd numbers from 1 to 10 using for loop.
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Note: You have four chiolces for Pac‘}w objective type question as A, B, C and D. The cholce ' -/ ,g‘r}f,&mf

which you think Is corrs?t, fill that bubble In front of that question number, on pubble sheet. Use marker or pen

415 = uh
10= AS
ot

to fill the bubbles. Cutting or filling two or more bubbles will result In-zero mark In that question. No credit will be

awarded In case BUBBLES arp not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1
(‘1>‘ N

(3

)

{0} R R

is the defailt confrol structure in 'q,-!anguage.
(A) Check sontrol Ju =
(C) Relational control Ju*” ikl

If the size of an array is 100, the range of indexes willbe ____. - -d.'
(©)

o@\j;éﬁ N
e S‘b’:./.:f.;zi,d{ "Pekistan’ & 3f3Ls, |

How many times the word "Pgkistan” w!!‘ be printed by fonov@

| @@ .

(A) 0-99 (B) 0- 100

for (Int x = 1, x <6, x++)
;:}rlntf("Pakistan");

A) 2.

A is a block of statements

(B) 3¢
orms

a particular task.

(A) Loop ‘gu’ (B) Array  &-/!

a function means to transfer the contf*cal to that

particular functior. . .
(A) Coding £ (B) Calling A¥
There are f[ types of cbmr’wents in Canguage.

(A) 2 (8 3
For initlalizing é variablé, we use operator.
|8 =

= ,_
Scanf() 188 N Cﬁprogrq_@qming language.

(A) Keyword 3 (B Library gAY

There are
(A) 2 (B) 3
is type of selegtion staterhent.

(A) Array < (B) Loop

types of logical opérators in C-language.

PRRUY AN 2 X —
(B) Sequential control U Jid oS
(D) All these Uy

@é:d’ ;{»’glil?q.. 100 e it

(Dy2-102

for (Intx = 1; x<8; x+¥)
printf("Paklstan]);

D) 5

-.;;tg;(vyrrﬂum._/@__ﬁrﬁ ——

(©) Function #® (D) All these Uy

- S e o

© Writhg 8 - (D) Alithese Uz
O Sl e
(C) 4 | (D) 5
LAV (LS
€ @ o) ?
"y ______u-‘.é:@_.ﬁl):g -C scanf()
(©) Function *¥ (D) File o

YT P &,‘z{ﬂJ""wé»@.c

€ 4 )5
i S HS
@it If (D) All these U

. |
ARINN NI sﬁ"ﬁ"ﬁ'\mmmn_m.ﬂ?ooo lMULTAN)
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. 2023 (1st-A) A
§SC PART-lI (10th GLASS)

COMPUTER SCIENCE (GROUP-I) (NEW COURSE) (ol g) (ls- o) S

TIME ALLOWED: 1.45 Hours SUBJECTIVE S¥le 145 = &

MAXIMUM MARKS: 40 | _MiN-2-23 40 =S

NOTE: Write same question number -:,:.é;;uﬁ.;,.{.gw’z?{ (yuf.}:.'ffulf:‘uf:'@}{dmm -2
and Its part number oh answer book, as given In the question paper.

SECTION-| e f
T g=2x4 .-é;}awfzérzugé_éf 24y

c.;,cmu[/f)?{ 0]

2. Attempt any four parts.

(iy Whols Programmet?
(i)  Deflne Syntax error. ; A A ki (D)
(i)  Différentiate between Variablg and Constant. _ZE kA (Variable) £ 4l (Coristant) T ()
(iy) Define Printf() function. -5 /Uuig Printi() (V)
(v) Vtrlte down output of the following code segment = Jq..bifd/ 5/;),,’5,%9 (V)
assume header files and variable are already declared. - ):st.-.é,';)f“idgu:l}'w&«g,{u",’
Vold main( ) ‘ Vold main()
{ ; {
printf("Name: "Ali\r Friame | Raza "), printf("Name: "Ali\n Fname : Raza"),
} | | . 13
(viy Desctibe the reason behind gompiler etror in a C-language prJ ram. .Y u&:@JLb;lfgfutrlﬁ4Lé e W
3. Attempt any four parts. 8=2x 47 @;j’@ymélzu a-af 34y
()  Define Corhpound Statement. Sl et (0
@y  Write Te nested selection structures. O®> -M,Q/’;um{; A s (i)
(i)  Trace the error of th? following cpde: o {&%{\ -,,-.{Jﬁr(fu buﬁfdwﬂ (".)
f(5==6) ' @% f(5==5)
{ % { T
X+, @ X+ ok
y# +; @ y+
(iv) How,joes to declare an arrdy in C-lang o ?q..lrlrkrﬂy’b)ﬂé_ﬂwé:@.c (V)
(v) ~ How does to access an element of - . ??e,-..e'wfd"bb Lo (}')
(vi) Trace an error of the followin STV S s (W)
Vold main( ) : ‘ . Void main( ) :
{ ' {
int array(5 int array[5
} } .
4, Attgmpt any four parts. 8=2x4 ~£Jf-&&'££'2b?&-5f Wy
()  Whatis nested loop structure? | te et 0
(i) = Write down the output of the following code segments? Tu:’“@-;daffg,(uﬂf.jfd!&» ()]
Int i; ‘ int 1}
for(i=1; 1<10; i=i+2) ; for (1= 1, l<1p; 1=1+2)
printf.("#\n ") ' printf ("«n"); y
iy Define Function. . R )1 g
Eiv)) What is nﬁeant by probiem solving approach? ‘ ?‘;.,Wg,.f ..-A';J L/L{.H (flv)‘
(|  Define Arguments. ' -ﬁ...gﬂfw"ﬁf v)
vT, Ml splefy i )

(i) How does readability help In fur{ctlons?
: SECTION- e : |
6e8x2  -difeinlely W T Y

2+3+3 -gEuwau‘/ sebbSt U h B

. 0 Sy
NOTE: Attemptany two uestions.
5. What ig the purpose of comments in CrProgram? ‘

Describe the types of comments. ‘
6. Whatls operater? Explain thé Unary and -gfwu:uxd'dl“/UkM Sl M ey Verpiy!

Binary operTor with- example. ,
s gt FINE 80 e 40 swlairtnd M) For Loop" slfe o7

-8

7. Write a program using 4 +4

“for loop" in C-languége fhat print even numpers from 40 to 80 on the cemputer screen.
, ‘ ACINNDABR. (181412000 (MULTAN)
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coqf () ww,_-(

..'.-5‘15 = =Y

COMPUTER SCIENCE ' (NEW COUSRSE):VGRO.UP-I
OBJECTIVE u"',,-'.v

MAXIMUM MARKS: 10 M7 10= A
S b SAhr /b.nhﬂ‘d&*ﬁ.riiowc.d u:/bi‘:{..:d.VLdb’/{QVle ..u?t‘.:{—: D it € /B A ojizs kar/r -t
£ {.Jlru'! -l’;b&nﬂ})&/‘ﬁwfg(d_./:‘; :{))/b -fxﬂwvwmwum{w Jak } L.fy@u'm&k——f ()

Note: you have four cholces for each ijGCtIVG type guestion as A, B, Cand D The choige .Qf.gf&wﬁr

which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen

TIME ALLOWED: 15 Ma‘nutgs

to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. !nlo credit will be
awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1 . -1 ){Jlk

(1) For initialize a variable, we use ___ operator," g LS T FLliIra@Eg - (1)
W — @ © e © 7 e

(2) | getch( ) is used fo take as inptk from the u;er;' -;.bxdbf"d.[. c.-..:vp geteh( ) ()

(A) int _ ey (B) float (C) char O®> () pnntf

(3) Whnich of the foltowing is a valid liné of code? @ v‘-‘c‘—gdl’d'ufxf Ve Lol (3)

grace = %) line =

(4) Which of the following is the condmon to check é or of c ?7 ¢ Sle ,-’K c @ f.:..dt&.;/ »’duf;ju; (4)

Ayt = zo thlSisahne Ty (D) int=¢

(A ) %c= : (B (D) a+c=

(C)a‘c= |
d:;fd‘”}é.xé»@c ®

(5} Sequential control is the | structure'in C-language. ‘- j( ,‘/J,P’

(A} Selection 2 " (B) Repefition ey, (C) Relation o (D) Default =i |
6y Array elemer.\ts ére Astéred at __ memory location. -u?i,kki’}‘.:.tti‘" ___Ld:yi’_f‘kiﬁc_zl 6)

(A} Contiguous it (B) Scattered g.m._/{ (C) Divided o,v,” (D) Add Cf ,
(7) _________part of for loop is executed first. -4.03%&.,/.-«7 . fg,)rfor (7)

<A¥C0nd|t|on E R (B) Body (1 T (© !nitiaiizétioh'@-"y’ﬂ’-ﬂ (b) Incrementlcecremem JQD!

(8) : The functions which are available in C Standard Library are called:

LB R @

(A) user-defined sy ' (B) built-in_ ¢t (C) recursive (z4X (D) repetitive il
(9) What will be the output of code? Wl nsiis (@)
Void main ( ) ~ Void main ( ) ' '
{ . | f |
_opnf (27 ‘ printf ("2°);
) , }
(A) 3 (8) 1 a2z (D) 4
{10) Readabiiity helps to the code. ' e 3t : Wepulivey  (10)
(MSave &5 - (B) Modity L/)w  (C)Run L (D) Compile £/ fif

 38(N)(Obj)( ¥)-2022(A)-16000 (MULTAN)
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COMPUTER SCIENCE (NEW COUSRSE) GROUPH i - _,,f (i) Flsed
TIMEALLOWED: 145 Hows = SUBJECTIVE JBLe - -~ Zies = o
MAXIMUM MARKS: 40 M 7' 4 fdd - a0 = AN |

NOTE: Write same question number -c—(,»gﬁg./,’trﬁé Z,uﬁ]ut/dlrd?utéfdl! -._«:7

(vi)

and its part number on answer book, as given in the question paper
SECTION- | Dyl

2. Attempt any four parts. 8= 2 x4 géfj..,tw::zwc,éf -Z/JV
(i)  VWhatis meant by programmmg environment? 3 3 q.:t/t[a..:.wﬂit.@'f w0
4{>ii) Wite two rules for naming yariabtes. ' = o . , S 157 ﬁ)ﬂ!»éaﬂ(t&.,t;." R ()
i) Differentiate bebveen “chas* and “int" - . i ‘ ‘.uf{}/'w_vﬁz int" o “char - (i)
(iv) Det_’trte logicat&peratbrs. ' ! . ' g LA S -qf..é«ﬂﬁ,‘:_{f&? ~ (i)
(v} Whatis the use of format specifief in C-language? ‘ P e ‘.‘.‘:.._Jt-ﬁ'ttf (jt&g-;’.»_atitﬁé:@-c | )
(vi) ~ Differentiate between unary opérators and binary operators. _ ;g,[/uy@)gﬁ};—ﬂijﬂt ol J/'{Td)g i)
3. Attempt any four parts. ‘ - 8=2x4 éxfuu.?ﬁvbtm:.«&f J/dlr
(iy  Define control statéments; B B ' ' . R 87 (a0 @
(i) Why do we need selection statements? . ' @dﬁd[»n/’\ff SO T<Bn
(i)  ldentify the errots in the following code: | R O - .,f,,m‘wttﬂ 8T | (m)
L if(x210) s b o _' 0(&% : zf(leO) |
printf ("Good"); - | o s | @% ' T printf ("Good"). 1.
(iv) Wnte the structure_ qf if statement. @%5 ' : u"‘;‘b-:s’uf' lt (M
(v e the example of the declaration of a fi t g‘JJt‘/Ju" /(’JL—/IY t:..,ﬂé_.ﬁ ,J/L.w@ V)

type array that holds marks of five stu

-qu/J[ s iy

Define data structure.

4. Attempt any four parts. ‘ 8=2x4 _ g{(futtyélibb@d/ ..4/Jtr_
() . Defineloop. - SR TE e b WA 0
(i) Write output of following code: ' | . s : | ' -u.*&e«;-ﬁifubbb (i)
for (inti=0; i<2;i++) ' - for(inti=0; i<2; i++) -
"~ printf (“Pakistan\n”); ¥ ’ ' ) o printf ("Pakistanin");
{m).' What is divide and conquer rule? ' g g T S t}r-.t‘xl_fdﬂtfs)’ 2,,(,[,4;"7 7 '(iii)"
v} Define function ! L | | LA
V) Write two'advantages of function. . ' o o . -g}}fkl}p&w‘ﬁ' B V)
(vi)  Differentiate between argument and parameter g% _ ??J)g¢j{l§,{:l WJ-’JT ~ (vi)

SECTION-]I ;: S

NOTE: Attempt any two questions.  16=8x2 ,ézfuttiéuufmc.df BN

5.

~

What is meant by comments in CProgram? 2+2+4 -geuymmwwf_.f?r “q.:yb(c, uﬁrt/:{u' 5
. Describe ‘purposes and types of comments‘ '
Explain the use of printf( ) and scanf{ }in 4+ 4 -J/ Z:br_.u:‘fdf}wié scanf( ) s prmtf( ) uféx@ C -
C- tanguage with examples L .
: , Log|c 4, Structure 4 -J:’q /C/Ké./..//u- B’,-‘.;/ 2l . Ut-ft..(:’ For s
Wiite a p:ogram using For loop to prmt table of any number : ‘

 38(N)-2022+(A)-16000 A(MULTAN)N -
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PAPER'C‘O‘DE < e e T Trangsiy
SSC PART-H (10th CLASS)

° Tt
NUMBER 3832 - lA

'COMPUTER sclENCE (NEW COUSRSE) GROUPHl bt ,/ (va) 'WJ |
TIME ALLOWED: 15Minstes . OBJECTIVE - (37 RO

MAXMUMMARKS: 10 M Zay .4),-)4—'* o = A
fe i & SAAIILR2rsie S bl s Jrpgdbili BELLIDHCBA R kﬁd'fx i

: /-z{«:”fv’ } -ff—?k#df/ éf&ﬂvflﬁ—):—‘c -’(JM‘J Wﬂﬁcﬁwf—&f*“i UJU:ﬂmM '
Note: you have four choices for each objective type guestion as A, B,CandD. The choice -gzwf,fulﬁf
which you think is correct, fill that bubbte in front of that quesﬂon number, on hubhla sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more b_ubb!oe will result in zero mark in'that question. No credit will be
awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.
Q.No.d = B i R L R o -1/Jtr

‘() For nmtnahzmgavanab&e weuse________operator. O -w;fdwyy.{:l‘ (&LLIJW;&".{ 1)
) —> _ ®) = | ' xs:l) e R £ I
(’2\} ‘Nt.\ich of the following izls a valid character sr* C-ian'gﬁage? L : s';.w,g:é»@.’-c /"‘-(/Wf:—uﬁu! @
o hee @ s © o (©) 116 T
{3} 'n C:language which of the following is logical operator” ‘ @@pﬂd“ wla.u:uuéﬂc : .(3) |

W+ o @< %@ . (D) NOT

(4) An if statement inside another if statement is ,{/.Jx./f if ul..f L iff W

called structure ‘ , _ ; L . o
- {A) Nested »s (B) Box (C) Repesated s (D) Decampasedh((zi

(5) AI) of the follonjng.;are control state except: L = & -girwu‘}‘:):)-'f'autd’jz_m " (5)

'(A) Sequential. J’“’;‘:’ e .' (B) Repititioh u...s.w y  {C) Sel_ecli_on J’gv - (D)_ Relation .f‘";

(6) str@ctura allows repetition of-a set of instructions. . _g.fﬂdV;'ézLM)J&;gk-)f#:&y{}{/‘ ______ . (B
 Aloop o e (B Conditional 41~ {C) Contol ¥ (D)Data 3 |
o) using loop insidé the loo_b-is called - - ' , : ,-5.EWL~M8‘*.‘JJ¢’_..,)- 4]
(A)For | 9 (B) While e Sirhpae s (D) Nested b2 |
(8) The values passed to a function are called: e ) bEF 1 -u‘&lkrw“’ J’JJ‘-L’Q : 8 -
(A) Bod:es Z3 ' (8 Return types J#eu,-/ (‘C)'Arrays‘ 24 . (D) Arguments u"l:
'(95 . What will be ihe output of this cﬁde‘” ' r . ,. ‘ : : Jﬁ../..n uf u(m ©)
o Vov;iabc( yroe ' o » : = " Void abc ( )
printt{'_'Punjab")‘. < 3 L. : T 5 printf(*Punjab");
(A) Punjab A s (B) Pt\:n, (C) Pak (D) Pakistan " A
10) ] there are three retun stalemenisin -Ju:‘.‘w'v/i:; , ' c_‘)ﬂwf}ux%ﬁwf&dﬂ‘f'gﬁ ('-1»0')7—
the funct:on-. body of them will be executed. T aet e g o e B ‘

5 (A;‘o_né G o (B) Two » L (C) Ttsree'“ci (D) Four Jp =

40(N)(Obi)( T)-2022(A)-10000 (MULTAN)
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UIIPUTER SCIENCE (NEW COUSRSE) GROUP-I /- u)j ( .«Ldb) v V/:/

“TIME ALLOWED: 145 Hours - SUBJECTIVE uw S Lia5 =
MAXIMUM MARKS: 40 M | 40 = fﬁf |

NOTE: Write same question number .- {/U~2 ?../.J'r'.fv’éf C/)/":]/:I/JM:":/(}KGV
and its part number on answer book, as given in the question paper.

SECTION (hle

2. -Attempt'any four parts. 8=2x4 Z:/iuit?élibbcdf 274y

() - Whatdo you know about text editor? | ' | wz._bg,,f‘,;:uté,ﬁ,f 0]

(i) Whatis compiler? | ' *‘:.U’Af i)

(i) Write the purpose of syntax, : {://M‘K U.S.Ha (iii)

(v} Whatis the difference between printf( ) and scanf( )? "C..d/(fgﬂ scanf({ ) pnnﬁ( ) (iv)
Eaf gt

"'(V) Define assignment operator.
5-—"/’95'4‘&% (vi)

(vi) - Define Modulus operator. - .
3. Attempt any four parts. ) o 8=2x4 é{//\.«tb’é’ﬂlbc’d}( 23 0y
(i Whatis sequential control? ‘ v ;.VJ:/J’J %0
: A - - e quu: fJJ - (i)

(i) What is the output of the following: : ‘
: @ ~inta=3, b=§;

- nta=3,b=5 :
+b; ol @ a=a+b;

a=ath; , v S
f(a>8&&b<8) . {&%} ifa>8&&b<8) . .
b=atb, : W, @% : ‘b=a+b;

" printf ("a=%d, b= %d", a, b), % printf ("a = %d, b = %d", a, b)

(i) Write the purpose of if statement. @@ ‘ 4’://#*'(.'/-'-’ if (i)

(iv)  Write structure of if-else statement. - 6 ' s 7 o -é;b:(u/ if-else . (iv)

(v) Define array. ] : : v " - J/Uc. J )

(v  Declare an array of float type marks of 40 students. é/;&/l{hﬁéﬁ Jl/u 40  (vi)

4. Attempt any four parts. - g=2x4 : -é//uui[,wbod/ a4ty

() Identify the errors of this code. .J/W'bjw”"w:/m 0]
for (int x=0; x <§; X++) F = . for (int x = =0 x<5 x++)

-~ printf("PAKISTAN"), , ; : : printf("PAKISTAN");

(i) Wite the output of this code. A _ , : 7 -J-‘g B 5!({ 1 (i)
int x; ' ' " _ intx;
for(j(=(}:x<3;x++) ‘ ‘ for(x=0;x<3;x+'+)
printf( " <\n"); e " | printf( * ¥e\n");

i Define user-defined functions : o éJ/J /C’rwfw‘ (i)

(v} Howa function is called? ' ' [ °G—VPUJVJI (iv) .

(v) Differentiate between arguments and parameters. +«J/lfu¢ PG ol JQ' f T

(vi)  What is meant by function body? | : ""—J‘/lfbd Se (vi)

SECTION-I! (2
“8x2 &/ /utw.’..,wmc.df o

2+6=8 ,J/ /Ju&e&rt&/’uﬁf/ﬁc o -5

NOTE: Attempt any two questions.
5 \Whatis variable? Write down the rules

for naming variable in C-language.
6. Explain the use of printf( ) 4+4 -J/ch,u:"};{dmﬁ /C' scanf( ) z:l print( )JC:@-C . =8

and scanf( ) functions in C—Ianguage with examp!es
Structure =4, Logic=4 .é_b/u/(j{f 1-10 c.é.u&..«i “for" iu"ﬁ(l);/uﬁ %

7. Write a program using “for" loop to print counting from 1-10.
40(N)-2022-(A)-‘10000 (MULTAN)



